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7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 468 5834 | =nLWS | 000 ~ 468 1.84 9.27 st 1.00 | 6.00 ~ 5.00 58.34 | TnLS | 5.00 ~ 56.00| 1.84 927
2 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 5.39 67.28 | =nst | 0oo ~ 539 | 1.83 927 st 1.00 | 6.00 ~ 6.00 67.28 | =nst | 5.00 ~ 6.00)| 1.83 927
3 100kN/mM%#BZ % — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 6.02 75.48 | FnLs | 0oo ~ 602| 1.83 927 st 1.00 | 6.00 ~ 7.00 75.48 | ThLSY | 6,00 ~ 7.00| 1.83 927
4 100kN/mM##BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 6.21 77.91 | FnLS | 000 ~ 0.00| 1.67 7.91 st 1.00 | 6.00 ~ 8.00 77.91 | RS | .00 ~ 800| 1.567 7.91
5 100kN/mM%#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 6.42 80.85 | =hst | 0.oo ~ 000 1.67 7.91 st 1.00 | 6.00 ~ 8560 80.85 | #hdst | 5.00 ~ 850 1.67 7.91
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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